1/od%/ dp™dy"™ [LGeV]

Ratio to ATLAS

=
<
[I

=
o
R

T

[EEN
o
w

-
<
i

[EEY

0.5

- m_Pythia 6.428 392
4 “Pythia 6.428 396
Pythla 6.428 397
¥ Pythia 6423 398

___);;__

13000 GeV pp t
e 1 ! ! ! =
- ptTOIO (ATLAS semileptonic ttbar) -
. w ATLAS :

---©-- Pythia 6.428 390
--81-- Pythia 6.428 391

Rivet 3.1.10, = 3.1M events

— . -
— . ]
- ’\\.\\ p—
- ENEN ="
B AR 1o
.\‘\ q.
N %
- NN —] 8
[ \. ‘\ —] m
— AN i
L '\"\ _2
: \\\\ : >5
'\ e (U
- “\ $~ _I—I
‘s ‘* N
kY Q
I ﬂi I
- —_ S
— Ho
— 00
— 2
- 1
o
| . o | . . . . &
:l T T T T | T T T T |:
— 1 2
— > 3 ]
— e ]
- e -t —
| g=- _ai_'l_‘__.__-__-g:l_,=,=:EEEEEEEEEEEEEEEE::::::: —1
| *—' —
| — 0.5
| 1 1 " 1 " | " 1 1 1 1 " |
0 500 1000

pt"* [GeV], [y in [0,0.7]



	Contents
	Page 1


